The group G is isomorphic to the group labelled by [ ”could not identify G” | in the Small Groups library.

Ordinary character table of G = (C3 . A6) : C2:
la 2a 2b 2¢ 3a 3b 3c 4a 4b ba 6a 6b 6¢c 12a 15a 150

X1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1

X2 1 -1 -1 1 1 1 1 1 -1 1 1 -1 -1 1 1 1

X3 5 -3 1 1 5 2 -1 -1 -1 0 1 0 1 -1 0 0

X4 5 —1 3 1 5 -1 2 -1 1 0 1 -1 0 -1 0 0

X5 5 1 -3 1 5 -1 2 -1 -1 0 1 1 0o -1 0 0

X6 5 3 -1 1 5 2 -1 -1 1 0 1 0o -1 -1 0 0

x- |6 0 0 -2 -3 0 0 2 0 1 1 0 0 -1 —E15°7—E®15 11— E(15) 13— E(15) 14 E(15) — E(15)°2 — E(15)" 4 — E(15)" 8

xs |6 0 0 -2 -3 0 0 2 0 1 1 0 0 -1 —E(15)—E15 2-E(15 4—E(15)8 —E(15) 7— E(15) 11 — E(15)" 13 — E(15)" 14

X9 9 -3 -3 1 9 0 0 1 1 -1 1 0 0 1 -1 -1

xol9 3 3 1 9 0 0 1 -1 -1 1 0 0 1 1 —1

x11 |10 =2 2 =2 10 1 1 0 0 o -2 1 -1 0 0 0

xi2 |10 2 -2 -2 10 1 1 0 0 0o -2 -1 1 0 0 0

xi3 |12 0 0 4 —6 0 0 0 0 2 =2 0 0 0 -1 -1

X14 | 16 O 0 0 16 -2 -2 0 0 1 0 0 0 0 1 1

X518 0 0 2 -9 0o O 2 0 -2 -1 0 0 -1 1 1

xe6|30 0 0 -2 —-15 0 0 -2 0 0 1 0 0 1 0 0
Trivial source character table of G = (C3 . A6) : C2 at p = 3
Normalisers N; Ny Ny N3 Ny N5 Ng N7
p — subgroups of G up to conjugacy in G P P, Ps P, P P P,
Representatives nj € N; la 2a 2b 2¢ 4a 4b ba |la 2a 2b 2¢c 4a 4b 5a |la 2¢ 2b 2b|la 2¢ 2a 2a |la 2b 2b 2c |la 2a 2¢c 2a|la 2¢c 2b 2a 4a
1-x14+0-x24+0-x34+1-xa+0-x5+1-x6+0-x7+0-xs+0-x90+0-x10+0-x11+0-x124+2-x13+1-x14+0-x15+1-x16| 81 3 3 9 -3 3 6 10 O 0 0 0 0 0]0 O 0 010 O 0 010 O 0 010 O 0 010 O 0 0 0
O-x1+1-x2+1-x3+0-xa+1-x5+0-x6+0-x7+0-x8+0-x9+0-x10+0-x11+0-x12+2-x13+1-x14+0-x5+1-x688 -3 -3 9 -3 -3 6|0 O 0 0 0 0 0[]0 O 0O 0|0 O 0 0|0 O 0 0|0 O 0 00 O 0 0 0
0-x1+0-x2+1-x3+1-xa+0-x5+0-x6+0-x74+0-xs+0-x90+0-x10+1-x11+0-x12+1-x13+1-x14a+0-x15+2-x16| 108 —6 6 0 -6 0 310 0 0 0 0 0 0[]0 O 0 0[]0 O 0 0|0 O 0 0|0 O 0 0|0 O 0 0 0
0-x14+0-x2+0-x34+0-x4+1-x5+1-x6+0-x7+0-xs+0-xX90+0-x10+0-x11+1-x12+1-x13+1-x4+0-x15+2-x6/108 6 -6 0 -6 0O 3,0 O o0 O O oo O0O4O O O O0OyO O O OfO O o o040 O O OO0 0 0 0 o
0-x1+0-x24+0-x34+0-x44+0-x54+0-x6+1-x7v+1-xs+0-x0+0-x10+1-x11+1-x12+0-x13+1-x14+0-x15+2-x16| 108 O 0 —-12 0 0 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x74+0-xs+0-x0+1-x10+0-x11+0-x12+0-x13+0-x14a+1-x15+0-x16| 27 3 3 3 3 -1 =3/0 0 0 0 0 0 0]0 O 0 010 O 0 010 O 0 010 O 0 0|0 O 0 0 0
0-x14+0-x2+0-x34+0-x4+0-x54+0-x6+0-x74+0-xs+1-X0+0-x10+0-x11+0-x12+0-x13+0-x14+1-x15+0-x16| 27 -3 -3 3 3 1 =3]0 0 0 0 0 0 0|0 O 0 0|0 O 0 010 O 0 010 O 0 010 O 0 0 0
1-x14+0-x2+0-x3+1-xa+0-x5+1-x6+0-x74+0-xs+0-x9+0-x10+0-x11+0-x12+0-x13+1-x14a+0-x15+0-x16 | 27 3 3 3 -1 3 2 |27 3 3 3 -1 3 210 0 0 0|0 O 0 010 O 0 0|0 O 0 0|0 O 0 0 0
O-x1+1-x2+1-x3+0-xa+1-x5+0-x6+0-x7+0-x8+0-x90+0-x10+0-x11+0-x12+0-x13+1-x14+0-x5+0-x16 | 27 -3 -3 3 -1 -3 2|27 -3 -3 3 -1 -3 2|0 O 0 010 O 0 010 O 0 010 O 0 0|0 O 0 0 0
O-x1+0-x2+1-x3+1-xa+0-x54+0-x64+0-x74+0-xs+0-x0+0-x10+1-x11+0-x12+0-x13+1-x14a+0-x15+0-x16| 36 —6 6 0 -2 0 1 36 -6 6 0o -2 0 170 O 0 010 O 0 010 O 0 010 O 0 0|0 O 0 0 0
0-x1+0-x2+0-x3+0-xa+1-x5+1-x6+0-x74+0-xs+0-x90+0-x10+0-x11+1-x12+0-x13+1-x14+0-x15+0-x6| 36 6 —6 0 -2 0 1366 6 -6 0 -2 0 110 0 0O 0|0 O 0 0|0 O 0 0|0 O 0 0|0 O 0 0 0
0-x1+0-x2+0-x3+0-x4+0-x5+0-x6+0-x74+0-xs+0-x90+0-x10+1-x11+1-x12+0-x13+1-x14+0-x15+0-x16| 36 O 0 -4 0 0 1 (36 0 0 -4 0 0 110 0 0 0[]0 O 0 0|0 O 0 0|0 O 0 00 O 0 0 0
0-x1+0-x2+0-x34+0-xa+0-x5+0-x6+0-x7+0-xs+0-xo+1-Xx10+0-x11+0-Xx12+0-x13+0-Xx14+0-x15+0-x16 | 9 3 3 1 1 -1 -1}9 3 3 1 1 -1 -1{0 o O oO|O O O O|O O O O|O O O O|O O O o0 o0
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+1-x0+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x6 | 9 -3 -3 1 1 1 -119 -3 -3 1 1 i -1/,0 o0 o0 O0O|O O O O}jO O O OJO O O O0O]JO O O o0 o
1-x14+0-x24+0-x3+1-x4+0-x5+0-x6+0-x7+0-xs+0-x9+0-x10+0-x11+0-x12+1-x13+0-x14+0-x15+0-x16| 18 0 4 6 0 2 310 0 0 0 0 0 013 3 1 110 0 0 0[]0 O 0 0[]0 O 0 00 O 0 0 0
0-x14+0-x2+0-x34+0-x4+1-x54+0-x6+0-x7+0-xs+0-xX9+0-x10+0-x11+1-x12+0-x13+0-x4+0-x5+1-x645 3 -5 -3 -3 -1 0O O O O O oO O3 -3 1 -14y0 O O OfO O O OO O O OJO O O 0 o
0-x1+0-x24+0-x3+1-xa+0-x5+0-x6+0-x7+0-x8+0-x0+0-x10+1-x11+0-x12+0-x13+0-x14+0-x15+1-x16| 45 -3 5 -3 -3 1 010 O 0 0 0 0 0/3 -3 -1 1|0 O 0 010 O 0 0|0 O 0 0|0 O 0 0 0
O-x1+1-x24+0-x3+0-xa+1-x5+0-x6+0-x7+0-x8+0-x0+0-x10+0-x11+0-x12+1-x13+0-x14+0-x35+0-x16 | 18 0 -4 6 0o -2 3|0 0 0 0 0 0 o|3 3 -1 —-1,0 0 0 010 O 0 010 O 0 0|0 O 0 0 0
1-x14+0-x24+0-x34+0-x4+0-x5+1-x6+0-x7+0-xs+0-x9+0-x10+0-x11+0-x12+1-x13+0-x14+0-x15+0-x16| 18 4 0 6 0 2 310 0 0 0 0 0 0[]0 O 0 013 3 1 110 0 0 0[]0 O 0 00 O 0 0 0
O-x1+1-x2+1-x34+0-x4+0-x54+0-x6+0-x74+0-xs+0-xX9+0-x10+0-x11+0-x12+1-x13+0-x14+0-x15+0-x16| 18 —4 0 6 o -2 3/0 o0 o o o0 o oO0OfO O o O3 3 -1 -1f0 O O OfO O O OO O O O O
O-x1+0-x2+1-x3+0-xa+0-x5+0-x6+0-x74+0-xs+0-x0+0-x10+1-x11+0-x12+0-x13+0-x14a+0-x35+1-x6| 45 -5 3 -3 -3 -1 0|0 O 0 0 0 0 0|0 O 0 013 -3 1 —-110 0 0 010 O 0 010 O 0 0 0
O0-x1+0-x2+0-x3+0-xa+0-x5+1-x6+0-x74+0-x84+0-x0+0-x10+0-x11+1-x12+0-x134+0-x14a+0-x35+1-x6| 45 o5 -3 -3 -3 1 0]0 O 0 0 0 0 0]0 O 0 o013 -3 -1 110 O 0 010 O 0 0|0 O 0 0 0
1-x14+0-x24+0-x34+1-x4+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x124+0-x13+0-x14+0-x15+0-x16| 6 0 4 2 0 2 116 0 4 2 0 2 113 1 1 310 0 0 013 3 1 110 0 0 00 0 0 0 0
O-x1+1-x2+0-x34+0-xa+1-x5+0-x6+0-x7+0-xs+0-Xx0+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x6| 6 0 -4 2 o -2 1,6 0 -4 2 0 -2 173 1 -1 -3]0 0 o0 0|3 -3 -1 1|0 O O O|0 O O 0 O
0-x1+0-x24+0-x3+0-xa+1-x5+0-x6+0-x7+0-x8+0-x9+0-x10+0-x11+1-x12+0-x13+0-x14+0-x5+0-x6 15 3 -5 -1 -1 -1 0|15 3 -5 -1 -1 -1 0|3 -1 1 =3/0 O 0 0l3 -3 1 —-110 0 0 0|0 O 0 0 0
O0-x1+0-x2+0-x3+1-xa+0-x5+0-x6+0-x74+0-xs4+0-x0+0-x10+1-x11+0-x12+0-x134+0-x14a+0-x15+0-x6| 156 -3 5 -1 -1 1 01 -3 5 -1 -1 1 0|3 -1 -1 3|10 O 0 o013 3 -1 —-110 0 0 0|0 O 0 0 0
1-x1+0-x24+0-x3+0-xa+0-x5+1-x6+0-x7+0-xs+0-x9+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16 | 6 4 0 2 0 2 116 4 0 2 0 2 110 0 0 0|3 1 1 310 O 0 03 3 1 110 O 0 0 0
0-x1+0-x2+0-x3+0-x4+0-x5+1-x6+0-x74+0-xs+0-x9+0-x10+0-x11+1-x12+0-x13+0-x14+0-x15+0-x6| 15 5 -3 -1 -1 1 01 5 -3 -1 -1 1 0|0 O 0 013 -1 -1 3|0 0O 0 013 3 —-1 —-110 0 0 0 0
O-x1+1-x2+1-x3+0-xa+0-x5+0-x6+0-x7+0-x8+0-x9+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x6| 6 -4 0 2 0o -2 1 6 -4 0 2 0 -2 1 0 0 0 0 3 1 -1 -3|0 0 0 0 3 -3 1 —-110 0 0 0 0
O-x1+0-x2+1-x3+0-xa+0-x5+0-x6+0-x74+0-xs+0-x0+0-x10+1-x11+0-x12+0-x13+0-x14+0-x5+0-x6| 15 -5 3 -1 -1 -1 O |15 -5 3 -1 -1 -1 O |0 O 0 013 -1 1 =310 0O 0 013 -3 -1 110 0 0 0 0
1-x14+0-x2+0-x3+0-x4+0-x5+0-x6+0-x74+0-xs+0-x90+0-x10+0-x11+0-x124+0-x13+0-x14+0-x15+0-x16 | 1 1 1 1 1 1 111 1 1 1 1 1 111 1 1 111 1 1 111 1 1 1 /1 1 1 1 (1 1 1 1 1
O-x1+0-x2+1-x3+1-xa+0-x54+0-x64+0-x74+0-xs+0-x0+0-x10+0-x11+0-x12+0-x134+0-x14a+0-x15+0-x16| 10 —4 4 2 -2 0 0|10 -4 4 2 -2 0 0 1 1 1 1 1 1 -1 —-1]1 1 1 1 1 -1 1 -1|1 1 1 -1 -1
O-x1+1-x2+0-x3+0-x4a+0-x5+0-x6+0-x7+0-xs+0-x0+0-Xx10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x6| 1 -1 -1 1 1 -1 1}]1 -1 -1 1 i1 -1 14}{1 1 -1 ~-1}{1 1 -1 -1}{1 -1 -1 1{1 -1 1 —-1{1 1 -1 -1 1
0-x1+0-x2+0-x3+0-xa+1-x5+1-x6+0-x74+0-xs+0-x90+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x6| 10 4 —4 2 -2 0 0|10 4 -4 2 -2 0 o}/1 1 -1 —-1]1 1 1 1 /1 -1 -1 1|1 1 1 1 /1 1 -1 1 -1
O-x14+0-x24+0-x34+0-x44+0-x54+0-x6+0-x7+0-xs+0-x0+0-x10+1-x11+1-x12+0-x13+0-x14+0-x15+0-x16| 20 O 0 -4 0 0 0 120 O 0 —4 0 0 0|2 -2 0 0|2 -2 0 012 0 0o -212 0 -2 012 -2 0 0 0
Py = Growp([()) = 1
Py = Group([(1,5,3)(2,9,8)(4, 12,10)(6, 14, 13)(7, 16, 15)(11, 18, 17)]) = C3
P; = Group([(1,8,14)(2,13,5)(3,9,6)(4,12,10)(11,17,18)]) = C3
Py = Group([(1,8,6)(2,14,5)(3,9, 13)(4,17,16)(7, 10, 18)(11, 15, 12)]) = C3
Ps = Group([(2,8,9)(4, 11,15)(6, 14, 13)(7, 12, 18)(10, 17, 16), (1, 5,3)(2, 9, 8)(4, 12, 10)(6, 14, 13)(7, 16, 15)(11,18,17)]) = C3 x C3
Py = Group([(1,8,6)(2, 14.5)(3,9, 13)(4, 17, 16)(7, 10, 18)(11, 15, 12), (1.5.3)(2, 9, 8)(4, 12, 10)(6, 14, 13)(7, 16, 15)(11, 18, 17)]) = C3 x C3
P; = Group([(2,8,9)(4,11, 15)(6, 14, 13)(7, 12, 18)(10, 17, 16), (1, 5,3)(2,8,9) (4,7, 17)(10, 15, 18)(11, 12, 16), (1, 8, 14)(2, 13,5)(3,9, 6) (4, 12, 10)(11, 17,18)]) = (C3 x C3) : C3
Ny = Group([(1,2,7,11,4)(3,8,15,17,10)(5,9, 16, 18, 12), (2, 6) (3, 5)(4, 10)(8, 14)(9, 13) (11, 17) (15, 16)]) = (C3 . A6) : C2
Ny = Group([(1,2,7,11,4)(3,8,15,17,10)(5,9, 16, 18, 12), (2, 6)(3, 5)(4, 10)(8, 14)(9, 13) (11, 17) (15, 16)]) = (C3 . A6) : C2
N3 = Group([(2,9)(3,5)(4, 17)(6, 13)(10, 11)(12, 18)(15, 16), (1,8, 14)(2, 13,5)(3,9,6)(4, 12, 10)(11, 17, 18), (1, 3) (4, 18)(6, 14)(7, 15)(8, 9)(10, 17) (11, 12), (2, 13) (4, 11)(6, 9)(8, 14) (10, 17)(12, 18)]) = S3 x S3
Ny = Group([(2,14)(6,8)(7, 18)(9,13)(11, 15)(16, 17), (1,8, 6)(2, 14, 5)(3,9, 13) (4,17, 16)(7, 10, 18)(11, 15, 12), (1, 18,6, 10,8, 7) (2, 15, 5, 11,14, 12)(3,17, 13,4, 9, 16), (1, 3,5)(2, 8, 9) (4, 10, 12)(6, 13, 14)(7, 15, 16) (11, 17, 18)]) = S3 x S3
N = Group([(2,14)(6,8)(7, 18)(9, 13)(11, 15)(16, 17), (1, 13,9)(2, 3, 14)(5, 6, 8)(7, 16, 15)(11, 17, 18), (2, 8, 9)(4, 11, 15)(6, 14, 13)(7, 12, 18)(10, 17, 16), (1,5, 3)(2, 9, 8)(4, 12, 10)(6, 14, 13)(7, 16, 15)(11, 18, 17), (1,8)(2, 3)(5,9)(6, 13)(10, 12)(11, 18)(15, 16)])%((03x03) C3) : (C2 x C2)
Ng = Group([(2,14)(6,8)(7,18)(9,13)(11,15)(16, 17), (1,8, 6)(2, 14,5)(3,9, 13)(4, 17, 16)(7, 10, 18)( 1,15,12), (1,17, 6,7,9, 10)(2,4,3, 11, 13, 16)(5, 18, 14, 15,8,12). (1.5, 3)(2,9, 8) (4, 12, 10)(6, 14, 13)(7, 16, 15)( 11,18,17), (2, 13)(4, 11)(6,9)(8, 14)(10, 17)(12, 18)]) = ((C3 x C3) : C3) : (C2 x C2)
Ns = Group([(2,8,9)(4, 11, 15)(6, 14, 13)(7, 12, 18)(10, 17, 16), (1,5, 3)(2, 8, 9) (4, 7, 17)(10, 15, 18) (11, 12, 16), (1, 8, 14)(2, 13, 5)(3, 9, 6)(4, 12, 10) (11, 17, 18), (2, 6)(3, 5) (4, 10)(8, 14)(9, 13) (11, 17)(15, 16), (3, 5) (4, 16)(7, 12)(8, 9)(10, 15)(11, 17)(13, 14), (1, 18, 2, 16, 13, 12)(3, 17,8, 15, 14, 10)(4, 5, 11,9, 7, 6)]) = ((C3 x C3) :

C3) : D8



